t
!

b =

A

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
Al , 754,344 9,558,022 3,196,322
2 564,163
& 576,000
=2 130,558
< ,018,456
s ,465,167
MAHAEE 1,763,552 488,837 1,274,715
= 45,000
= 576,000
< 4,200
s 1,138,352
HEH 2dst 1,763,552 488,837 1,274,715
= 45,000
& 576,000
< 4,200
[ia 1,138,352
QM o3t 112,580 147,690 A 35,110
= 45,000
s 67,580
201 £B-2dH| 11,800 12,350 A 550
01 At 224l 11,800 12,350 A 550
Oget==EH| 9,000
— AU B 22 ME
3403 *1,000% x53| 1,700
-0 2 elEe ME
340& *1,000% x53| 1,700
—ZHac BHe 2= M
3403 *1,000% x53| 1,700
—dSANE 248 222 MH
55,000& 200K 1,100
—HEANY S MO0 A EEE HE
55,000 #1741 13 935
—o3d 222 ¥ S5 MA 1,865,000 1,865
O= &l 2,800,000& 2,800
202 O4dl 6,480 8,640 A2,160
01 = LH 4 1l 6,480 8,640 A2,160
OXNEZHELs 22 =8 6,480,000% 6,480
203 &R = b 2,500 2,500 0
03 AIBFAH S Z=AY| 2,500 2,500 0
Oz Neads dR=a 2,500,000& 2,500
301 gt L= 1,800 4,200 A 2,400
10 #AtAHIE A3 1,800 4,200 A 2,400
O A AIE X 02 30,000& *30H x23| 1,800
307 2120l & 90,000 120,000 ~30,000
= 45,000




M ZHSY D

HE: MHRE=E
el NE3M 245 (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 45,000
02 QIZtA A X 90,000 120,000 A 30,000
O2HEBxZ ALY 90,000
— X ATHAH S EAY 90,000,000 90,000
= 45,000
= 45,000
=22 35,631 40,331 A4,700
101 2121 H| 11,431 10,261 1,170
04 JI2ZtHIZ22NEE S 11,431 10,261 1,170
O2IEA BLIEHEE o2
38,880 *3H 98 11,431
201 LBt Y| 11,970 17,840 N5,870
01 AP 22| H| 11,970 17,840 N5,870
Ogbt4=24| 5,880
—3JIotd 25 E22 M 1,260,000 1,260
— ZEJIAA A XNE TE N
70,000 *300H & 2,100
— ZSH)IAA A QHEE(MYIIZSSHHES)
M2 350 x200H0 3000 A~ x12& 2,520
o294 3,990
— 2l 2 70,0003 x19Y 33| 3,990
O=3&H| 2,100,000 2,100
202 044 6,480 6,480 0
01 2L I 6,480 6,480 0
OZit&el gFF4 6,480,000& 6,480
301 YptE A 750 750 0
10 HAFAHI B &2 750 750 0
OIS o S &4A 30,000 x25H 750
307 2iz2to| & 5,000 5,000 0
03 Al S HE X2 5,000 5,000 0
OMZE8ols X 5,000,000& 5,000
202 e X & 24,600 27,340 A2,740
= 1,200
= 23,400
301 et A= 600 1,740 AN 1,140
10 HALAHI B A2 600 1,740 A 1,140
OZ203HLEHM T3 &8 BA2
600,000 600
402 DI2HX 20| & 24,000 25,600 A 1,600
& 1,200
= 22,800
01 QI2tXE8 X 24,000 25,600 A 1,600




2M: &

M NUTE
Sl XIGHH 24 CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OEHIEXAY 24,000
— 303 Hdl X2 24,000,000& 24,000
& 1,200
= 22,800
NEgH =4 229,000 130,000 99,000
307 QI2t0| & 139,000 130,000 9,000
02 A2tFAMNE X 139,000 130,000 9,000
OEXINIEH™ Z&EH K& 50,000,000 50,000
O XIS CIXCIpEY MEols olAdl K&
50,000,000& 50,000
Os< g L MII10F & 9,000,000& 9,000
OEXI HEHE &4 30,000,000 30,000
402 QI2F X 20| & 90,000 0 90,000
01 2IZ2tXtE2e x 90,000 0 90,000
OEXD HIIE oty EX HY
40,000,000 40,000
OZXI HIOISEHOHE A5 L AL
20,000,000 20,000
OZ=XD| HIIE Mdeldls 30,000,000 30,000
HAaE BMUS 1,200 2,000 A 800
= 600
= 600
201 LEt2 A Y| 1,200 2,000 A 800
= 600
= 600
01 At 22l Yl 1,200 2,000 A 800
OEHIEXAY 1,200
—&Ha24d JHLE 1,200,000 1,200
= 600
= 600
HSANE K& 136, 141 125,076 11,065
201 L2 Y| 36, 141 10,076 26,065
01 AFR2t2l bl 35,901 10,076 25,825
OMZH ¢ 24,000
—SENSAFAESH g 120&*100,0000H 12,000
— A AT L 1203 =100, 000 0H 12,000
ogxts 7,101
— JIOFAIE 2 X Xt E 3,340& *x2,126m 7,101
OZ2EANE(ZH . AIIAZE) S22 X el 8
] 200,000 *12& *2JH & 4,800
02 3524l 240 0 240
OAlE Bots &2 20,000& x12& 240
301 dEtEAZ 50,000 65,000 A 15,000




SN BHSHD
Ha: NATE
ool XYM 245

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
12 JIEtE A2 50,000 65,000 A 15,000
OFSANEMNEA &0 XA
200,000,0002 *5/100 10,000
OSIANIMNEA &0 XA
800,000,0002 *5/100 40,000
401 AlEHIZL £ 0HY| 50,000 50,000 0]
01 Al&H| 49,460 49,460 0
OFEANZE AN X 24| 49,460,000 49,460
03 Al 201 Y| 540 540 0
OFEANE ANE X 24|
50,000,000 «1.08/100 540
JFOFAIE HHIAY 1,222,000 0 1,222,000
2 576,000
= 646,000
401 Al HI L 2 0HHI 1,222,000 0 1,222,000
2 576,000
= 646,000
01 A& H| 1,217,600 0 1,217,600
OEAXNGLNELZ HAIE 1,217,600
— JIOFAIE =X &4 1,217,600,000< 1,217,600
2 576,000
= 641,600
03 A& E2HH]| 4,400 0 4,400
OEAXNGLNELZ HAILE 4,400
— JIOFAIE =X &4
1,222,000,000& +0.36/100 4,400
T 2IRLEHRE 29 2,400 2,400 0
== 2,400
101 124 H| 2,400 2,400 0
& 2,400
04 JI2ZtHIZ22NEES 2,400 2,400 0
OEHIEXZAY 2,400
—C SIIELIHRJ 21| 2,400,000& 2,400
== 2,400
HNHX =208 770,166 330,515 439,651
= 286,333
o= 22,317
= 461,516
HUEHX ANEES 770,166 330,515 439,651
= 286,333
= 22,317
= 461,516
HHAZ2AMO JIA & MIIAIE WH XS 102,166 188,515 A 86,349
= 43,333
=} 5,400




2N
X ZH -
L= B

el

NS
A +==0td
HUX ANIEE=2

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 53,433
201 et | 7,344 19,200 A 11,856
01 AP 22| d| 7,344 19,200 A 11,856
OEHEXZANY 7,344
— A2 MO SEIAIE oHE A AR
7,344 ,000& 7,344
206 M = Hl 40,656 169,315 A 128,659
o= 5,400
= 35,256
01 =4l 40,656 169,315 A 128,659
OZHIEXZAY 10,656
— A2 MO &EIIAE JHEAFS
10,656,000 10,656
& 5,400
= 5,256
ONMASS JIAEIOH X XNEAY
30,000,000& 30,000
403 XX SHHS K20 & 54,166 0 54,166
= 43,333
= 10,833
02 BII2SHCHSCHE AFS I 54,166 0 54,166
OZHIEXZAY 54,166
— X AKAAHAZS IIAANAE HEAFY
54,166,000 54,166
= 43,333
= 10,833
2IE 1008ts ES ALY 182,000 142,000 40,000
= 16,917
= 165,083
402 SI2t X0l ™ 182,000 142,000 40,000
= 16,917
= 165,083
01 QIZ2tXEE X 182,000 142,000 40,000
OEHEXZANY 182,000
— J2lE 1008ts BE2AtY 182,000,000 182,000
=} 16,917
= 165,083
NEod X &2 ALY 364,000 0 364,000
= 182,000
= 182,000
401 AlEHIZL 2 0HY| 364,000 0 364,000
= 182,000
= 182,000
01 Al& H| 361,379 0 361,379
OZHIEZANY 361,379




= DN[E=E S
A =setd
COUX AIEES

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— 22Z2FAF LED W H ALY 361,379,000& 361,379
= 182,000
= 179,379
03 Al 201 Y| 2,621 0 2,621
O=2HIExZAY 2,621
— =22 A LED B H A
364,000,000% x0.72/100 2,621
MIHMHHX AEESAS 122,000 0 122,000
= 61,000
= 61,000
401 AlEHIZL £ 0HY| 122,000 0 122,000
= 61,000
= 61,000
01 Al&H| 120,815 0 120,815
O32HEZAY 120,815
— S-S EHYZYUMAILD AXAIE
47,481,000 47 481
= 24,000
= 23,481
— AT BAHHEH EHYZBLEAIE SXAS
73,334,000 73,334
= 37,000
= 36,334
03 A& E2HH]| 1,185 0 1,185
O2HIBExZAY 1,185
—EdEEE HYZLHAIE EXAMY
48,000,000 *1.08/100 519
— 832 BEHEH BIYZUHAL EXAS
74,000,000 «0.90/100 666
NS HH 5,626,732 5,627,022 A 290
= 14,900
& 665,934
= 4,945,898
2 H A 5,244,240 5,064,515 179,725
= 14,900
== 665,934
= 4,563,406
"SI =482 X3 623,221 588, 108 35,113
= 198,611
= 424,610
101 124 4| 11,925 9,207 2,718
o= 7,387
= 4,538
04 JI2ZtHIZ22NEES 11,925 9,207 2,718
OEHEXZAY 11,925
—HANENSdNESFEZA 11,925,000& 11,925




AN FHSHD
M DsHE A
ool 2sUH XS CEEEED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 7,387
s 4,538
307 glz2+ol & 611,296 578,901 32,395
= 191,224
e 420,072
09 2+HAHEEXS 611,296 578,901 32,395
OEHIEXAY 611,296
—glkd 24243 XN= 611,296,000 611,296
CS 191,224
i 420,072
HASH XA 943,707 894,407 49,300
= 14,900
< 464,403
s 464,404
307 glz2tol & 943,707 894,407 49,300
= 14,900
= 464,403
= 464,404
09 2HAHAEXS 943,707 894,407 49,300
OZHIEx= At 894,407
—H==9ded EM484 894,407,000& 894,407
< 447,203
i 447,204
OIHIEx= At 49,300
—dTA2H JISEEI XM XA
49,300,000 49,300
= 14,900
< 17,200
[ia 17,200
2gH A2 ,423,600 3,400,000 23,600
307 21201 A ,423,600 3,400,000 23,600
09 2+=HAHEEXS ,423,600 3,400,000 23,600
ONUXIAHMMEN E KRFAMHE A&z EX
3,400,000 & ,400,000
OGaIIEEX Xl X 23,600
— EHAl 200,000& = 118CH 23,600
221 22 2382 187,872 182,000 5,872
206 M=l 25,272 50,000 N24,728
01 =8l 25,272 50,000 N24,728
OZds28 N& 25,272
— EHAl 72,0002 *351CH 25,272
402 QI2H X201 M 162,600 132,000 30,600
01 2I2tR2E X 162,600 132,000 30,600
Ogdazss N& 50,0003 2710 x12& 162,600




B: DE
28

NS
A A
(o]

=]

o XI#

(o
SH - HB . B (3H) - B2 e HDS2
SHEHA DNSIHEAAE A= 5,840 0 5,840
= 2,920
= 2,920
307 212t01 & 5,840 0 5,840
T 2,920
= 2,920
09 2xHAHEEXT2 5,840 0 5,840
OEHIBEXAY 5,840
—WEIIE A =2 5,840,000 5,840
T 2,920
= 2,920
S XA 60,000 0 60,000
307 212t01 & 60,000 0 60,000
05 A2t E = 60,000 0 60,000
OEg8usst 60,000,000& 60,000
OFM AFLD Ofl & 382,492 562,507 A 180,015
WENM A|A=2 22 350,876 533,244 N 182,368
201 Yet2 2t 98,964 96,764 2,200
01 AFR2 22l Yl 12,950 13,750 A 800
Oget+=gH| 4,450
—IEHE 21 =& oM
452,250 42 D| 1,809
—nNEsSEAN HE HZE 310,000 x23] 620
— WESOotA™ OFLY 146,500%4 4 586
— XS £ ADE(2H)
287,000& *5J4 1,435
ozg=sY 700
—EdEZNSAAL OlsH S /A3
70,000& =104 700
OZ2 &l 2,800,000& 2,800
Oexts 5,000
— LAFIE SXE 5,000,000& 5,000
02 =294l 86,014 83,014 3,000
OZ2Z22Z2Y4 A 83,494
—nNEdss dIe=2 4,000,000& x12& 48,000
— WECHMAIES HMD| B3 =
15,494 ,000& *13] 15,494
— YU ECCTVII L & 4,250,000& *42 D] 17,000
—ASIAUHZHEIDANAN s RERZ
250,000& x12& 3,000
OA & &Hl S XY 2,520
—gd8s F8X SEIM0 2t =7 X
1,260,000& 23] 2,520




2N

FNSa
g nsdE e
SHelr NSeHEAILD oY (Sl & &)
= _ = d =
SN BB (HA) - MM - BES 0l &t o R HREZ
Of & 2
202 04l 6,912 6,480 432
01 SLHOYI 6,912 6,480 432
Ounsotd gLFa 6,912,000 6,912
206 T2 b 12,000 12,000 0
01 M= dl 12,000 12,000 0
OSAMNF=XE WSt HEXE £X
200,000 =104 2,000
OdHALZ=E WSetLE &X 150, 000 204 3,000
o2& ZHY HIS WA 100,000& =104 1,000
OLd L2AF=XE IHE4A 500,000 64 &~ 3,000
O3g=xd BEXE uH
300,000& x2& *501 A& 3,000
307 21201 & 3,000 3,000 0
03 Mt2lEHHEX= 3,000 3,000 0
O 2 Xsl XA 3,000,000 3,000
401 A& HIZ 2018 230,000 400,000 A 170,000
01 A& HI 227,840 396,760 A 168,920
OunsSetd AIE=2 &X 79,280,000 79,280
Oxtgdis oAg SHECCTV €X ¥ A 2
= 99, 100,000& 99,100
OFFX LHEA & HMEXE HH A
49,460,000 49,460
03 Al 2 0HHI 2,160 3,240 A 1,080
OuWECHHE Al8=2 &1
80,000, 000& *0.90/100 720
Oxtgdis oA g SHECCTV €X ¥ A 2
= 100,000, 000& x0.90/100 900
OFEX =HIA & AHMEXE i A
0,000,000& *1.08/100 540
NSEM HE n= 31,616 29,263 2,353
101 @124 4] 29,416 25,713 3,703
04 DIt Z22XsSE* 29,416 25,713 3,703
FIXESE @ WSEM AR ARY 29,416
—Jl2s 38,8803 x2H 250 19,440
—-FRd=sE 38,8803 «2H x52 4,044
PN 38,8803 x2H « 12 934
—4HEE= 24,416,640 %12.3% 3,004
— &&= 996, 700& »2H 1,994
303 Z& 3 2,200 2,200 0
01 243 2,200 2,200 0
OXsSxt2e Mel+=g 4= Ald 2,200,000 2,200
s3HA =24 & 29 100,000 200,000 A 100,000




fA:H

X ZH: =
(=R IR

©°el 532X =4

HS & o
SEA =4

=

bl
Ho Mo

o
02 02

i

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 50,000
s 50,000
=3HA =4 & 29 100,000 200,000 A 100,000
= 50,000
i 50,000
SSHX 272 SZHA AL 100,000 200,000 A 100,000
< 50,000
2 50,000
401 Al HIZ 201 Y] 100,000 200,000 A 100,000
< 50,000
= 50,000
01 A& HI 99,100 198,560 A 99,460
OEHIEXAY 99,100
—2R2Jg EZAd ALY 99,100, 000& 99,100
< 50,000
e 49,100
03 Al S THHI 900 1,440 A 540
OEHIEXAY 900
—27B0g EZA ALY
100,000,000 *0.90/100 900
=Hns ¥ EURI 2,024,260 1,107,500 916,760
< 1,201,000
s 823,260
ZHnE s 231,500 231,500 0
SHRITEAF WEEH 235 211,500 211,500 0
201 L2l 3,000 3,000 0
01 At 22l 3,000 3,000 0
Os49g 150,000& 4 H x53] 3,000
202 044l 56,000 56,000 0
03 2220 56,000 56,000 0
Oz NERAN 25 &2 12,000, 000& 12,000
OLZ IIERAN S SAHO 2
4,000,000& 4,000
O0l= HASI2E HHSZ23 s
10,000,000& 10,000
O0l= HASIRE 25 L2 20,000,000 20,000
O== MEE 35 Y2 10,000, 000& 10,000
301 Lpre a3 152,500 152,500 0
07 BI2+QI =2 2| (4 HI 134,500 134,500 0
Oz DERRAN 25 &2 7,500,000 7,500
O2e 0IERA 0% «=s0tct=EUa ot
6,000,000 6,000
O2e 0IERA Sstd EAHO &It
25,000, 000& 25,000

_10_




M ZHSY D

M FMuF ¥ FEANRA
©e: FNDE S EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ol0l= HAII2E HEZZ0E FIt
70,000,000& 70,000
Oll= HAJI2E 2= &2 20,000, 000& 20,000
Os= M&Ed 35 Y2 6,000,000& 6,000
08 2el=& 0o bl 18,000 18,000 0
Og2 0IERA #Z20tetE =& 4,000,000 4,000
Og2e IIERA S EAHO0 =&
5,000,000 5,000
Oz NERRAN 5 =& 3,000,000& 3,000
O0l= HAN2E 25 =& 3,000,000 3,000
Os= d&s 5 =34 3,000,000 3,000
=MusE XA 20,000 20,000 0
201 £B-2dH| 5,000 5,000 0
02 =224l 5,000 5,000 0
O=Hsa NAINs=E3 5,000, 000& =12 5,000
307 glz2+ol & 15,000 15,000 0
03 MalEHHEEXZ 15,000 15,000 0
OZMuzcH X 15,000,000 15,000
sads & ENRI 1,792,760 876,000 916,760
< 1,201,000
s 591,760
gl XI& A 16,100 0 16,100
< 1,000
[ia 15,100
301 et as 2,100 0 2,100
10 HALAHI 242 2,100 0 2,100
OJIZH=Z Mg s HAX 2o
10,000& 30 300
O & SIS EE 4L 2¢
30,000& 302 23| 1,800
402 212t X 20| & 14,000 0 14,000
< 1,000
e 13,000
01 RIZEAt 22X 14,000 0 14,000
OXNYEN=EN Exz N2 A 10,000,0003 10,000
OZHIEx=AL 4,000
—&HYIY AANEHE EXx3 NEAEY
4,000,000 4,000
< 1,000
i 3,000
S& X3 10,430 10,830 A 400
202 Oddl 6,480 6,480 0
01 2401l 6,480 6.480 0




FNSa
2HuE ¥ EXNKA
S4FE 2 ENRA SR
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OsaXad d2F8 6,480,000& 6,480
301 et A3z 3,950 4,350 A 400
10 #AIAHIE A Z 3,950 4,350 A 400
ORAYESMAE SEAH 8243 &It
30,0003 x8&H +23] 480
OQZ4YE FHAZ(QC) ZHOHE =Dt
30,0003 *3H X x4 L x23] 720
Oclbt0l0 =8 ==&E35 &It
30,0003 «5& X +5& 750
O AIEIMNH o AHees] FHot
2,000,000& 2,000
EXSX X2 64,230 865,170 A 800,940
201 et 11,630 11,570 60
01 At 221l 11,330 11,330 0
OgBt==&H| 8,250
—=2MLFE 2M HAZ 78,000& 103l 780
— =2 MRS A =& S|
150,000& x2H x4 3| 1,200
—SElsXNEsESHE 2,500&+1,000% 2,500
—EXNSX ot MEX M=
1,000& +2,000% 2,000
— =M =& QAASO0l =2 M
55,0003 «15J4 23] 1,650
—=duE g4NE BEMHA 2
60,0003 »2H 120
ozg=+4¢ 980
- ENRAANE 2Y+Y
70,0003 7 %23 980
O= &l 2,100,000& 2,100
02 =24l 300 240 60
O333LAA 300
—SIHNRSAMSFE EZ 10,000& *302] 300
301 et a3z 2,600 3,600 A 1,000
10 #AtAHIE A2 600 600 0
OFXNRX £H3 FAX 24 30,0003 20 600
12 JIEBHE4 3 2,000 3,000 A 1,000
EUsX QSIS Z&S 2,000,000& 2,000
401 Al B2 28I 50,000 50,000 0
01 A& HI 50,000 50,000 0
OJIg= X JletAld K& 50,000,000 50,000
HEAZ =4 ALY 700,000 0 700,000
< 700,000
401 AIEBIZ 28I 700,000 0 700,000




AN FHSHD
M FMuF ¥ FEANRA
Sl SATNES 2 SXRA (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 700,000
01 A& HI 694,960 0 694,960
OEHIEXAY 694,960
—H#HAZS LAY 694,960,000 694,960
< 694,960
03 A& =2 THHI 5,040 0 5,040
OZHIEXZAY 5,040
—H#HAS LAY
700,000,000& *0.72/100 5,040
< 5,040
S2EALIA AMEHRA JIEHAIE LAY 1,002,000 0 1,002,000
< 500,000
[ia 502,000
202 04 Hl 2,000 0 2,000
01 = LH 4 HI 2,000 0 2,000
OS2 AEIH ANEATA JIBAIE ZEAY
= 2,000,000 2,000
401 AIEHI L 2 0] 1,000,000 0 1,000,000
= 500,000
s 500,000
01 A& tl 993,700 0 993,700
OEHIEXZAY 993,700
—SBHEIAH ANEHTA DJIEAIE =4
993,700,000& 993,700
< 500,000
i 493,700
03 A& S THHI 6,300 0 6,300
OZHIEx= AL 6,300
—S2HEIAH ANEHTA DJIEANE =4
6,300,000 6,300
NEFRX Y OHF 876,904 1,231,367 A 354,463
= 217,930
= 130,558
< 75,005
s 453,411
ng=sd 876,904 1,231,367 A 354,463
= 217,930
& 130,558
< 75,005
s 453,411
SS2Z2AMY 301,580 269,600 31,980
& 130,558
[ 171,022
101 124l 291,980 260,000 31,980
& 130,558
[ 161,422

|
w
|




2N

X{ XH -
S =

bl

Rk ooy

00 o =
I Ik o

A A 0z
a
e
0

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
04 JI2ZtH 22 XNEE 291,980 260,000 31,980
Os32 =AY 291,980
—S3S2Z2AIY F O A el
260,000,000 260,000
= 114,490
= 145,510
—4AEE = 260,000,000& x12.3% 31,980
= 16,068
= 15,912
201 et A | 5,000 5,000 0
01 AFR22t2l Yl 5,000 5,000 0
OgBt=gH| 3,960
—S32E2FNEE 7Y 166,660& *12& 2,000
— IS E M2 49,000 205 x23] 1,960
= 2| 1,040,000 1,040
202 (4] 4,600 4,600 0
01 2L Y| 4,600 4,600 0
O222=2 g 4,600,000& 4,600
itel SEdy 29 33,960 37,260 A 3,300
& 11,700
= 22,260
101 @121l 23,400 23,400 0
& 11,700
= 11,700
04 JI2ZtH 22 XNEE S 23,400 23,400 0
OEHIEXAY 23,400
— A ACSHAL 0124 H 23,400,000& 23,400
& 11,700
= 11,700
201 et A | 6,060 6,060 0
01 AFR2 2t 2l dl 6,060 6,060 0
Oget+gH| 5,000
—dXelSEHE EE2S HE
250& *2,0008 *43] 2,000
— 2l ESEdH FI2E 7L
250,000& x12& 3,000
Or=1=1:l 1,060,000& 1,060
206 T 2 bl 3,000 3,000 0
01 & bl 3,000 3,000 0
Ogxiel Sede &9 M| 3,000,000& 3,000
301 AP B A 1,500 0 1,500
10 HALAIHI B AZS 1,500 0 1,500
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HE: DBEF U OH
oel: 1REX (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 RIZERt2EX 110,000 80,000 30,000
O=HIEX AL 110,000
— OIS ESHAE 110,000
A 02219 4 50,000,000 104 & 50,000
= 25,000
< 7,500
s 17,500
- (M)XE o221 2X X &
30,000,000& *2H A 60,000
= 30,000
< 9,000
[ia 21,000
SEE dXelArg 143,614 283,584 A 139,970
101 @124l 131,734 258,000 A 126,266
M4 JI2ZHZEXNSES 131,734 258,000 A 126,266
O %58 Lelidy 131,734
—XEFE LT2AY WA 1A
100,000, 000& 100,000
— 40 B8 258,000,000& *12.3% 31,734
202 oddl 1,880 584 1,296
01 = LH o4 1l 1,880 584 1,296
O XEEE LR2AE HREFX 1,880,000 1,880
206 M= Hl 10,000 25,000 215,000
01 =8l 10,000 25,000 A 15,000
O SsgLielAty 22 W=l
10,000, 000& 10,000
A EI S E ALY 64,850 224,000 A 159,150
= 51,480
< 13,370
307 21201 A 64,850 213,000 A 148,150
= 51,480
< 13,370
02 It o8 X 64,850 213,000 A 148,150
O IHIEZ A 64,850
—(olgl) At EDIY LXelEHSAY
64,850,000& 64,850
= 51,480
< 13,370
NEesd 58 561,950 547,001 14,949
SR X 561,950 547,001 14,949
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201 Let249] 355,381 317,840 37,541
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—Jl2S 42 #Z2P MY TY= . MY
3t 250,000 *x2H *13] 500
~UHHAR JRE Y AT DY YA
10,000& * 100 £ 1,000
—Ji2s 22 9 M 10,000& 1004 1,000
OF=1=1:] 2,400,000 2,400
02 332Z 4l 350,481 313,440 37,041
OZ2Z22Y Al 350,481
—JI2E HII2(5,043S)
28,100,000& x12& 337,200
—JI2s )| o™ HH 13,281
- HofE 55,400 *69H A~ 3,823
-JIZ2 S 12,298% 769 9,458
202 04| 6,912 6,912 0
01 2LHHI 4,752 4,752 0
OX=zs Zel(dg, og, 2 8)
4,752,000 4,752
02 EHN Y| 2,160 2,160 0
2HA(1Y) 2,160,000& 2,160
206 M =8l 59,325 88,725 N 29,400
01 X bl 59,325 88,725 AN 29,400
OF2s #A=e 59,325
— oHE D 20,000& *5004 10,000
— S &I 15,000& *500 4 7,500
-8 (LIEE) 13, 000& *500 4 6,500
— P (AIHE) 13,000& *500 4 6,500
— M AR 20,000& *500H 10,000
- AsSEZD 50, 000& *200H 10,000
—JIA(SI13) 40,000& =150 6,000
— JIEFXFTH 56,500, 000& *5/100 2,825
401 Al HI L 2T 110,000 103,500 6,500
01 A& HI 109,092 103,500 5,592
Os&Egs a7 &X 31,654,000& 31,654
Os&Jtgs 0|4 31,654,000 31,654
Os&Eltgs d2&82 4 &l 10,000,000& 10,000
OZANEIEZS HIIHEEH 28 HU|
19,784 ,000& 19,784
OL® g Jtgs s oA
800, 000& *20H A 16,000
03 Al&E 201l 908 0 908
Os&llgs &7 &X
32,000,000& =1.08/100 346
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el BEoIRT 2 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Os&JHags o4 32,000,000% *1.08/100 346
OZANEIIZE FIItHFE BHE &l
20,000,000 *1.08/100 216
405 XtatE SHI 7,000 0 7,000
01 XML = ZFH St 7,000 0 7,000
OF&AXNEXI 2 4,500, 000& = 1CH 4,500
Od2EXI 7 2,500, 000 *1CH 2,500
MEESH QAKX 23,332 30,024 NB,692
101 14l 23,332 23,024 308
4 DIt ZE2EXREES 23,332 23,024 308
ONZS At=2te| &3 e2Y 23,332
—Jlas 134,900& »2H 64 17,268
— =52 134,900& »2H 13 3,508
— 428 = 20,774 ,600& *12.3% 2,556
HY2HZH (FHS&) 25,780 25,780 0
Jl= &l 25,780 25,780 0
Jl=dl 25,780 25,780 0
201 Let249] 10,180 10,180 0
01 At 22l 10,180 10,180 0
Oger==EH| 10, 180,000& 10,180
202 Od4dl 11,400 11,400 0
01 = LH o4 1l 11,400 11,400 0
ORMESI (A, MOILI, 128 &4 5)
1,400, 000& 11,400
203 R =&l 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORAM2IYRFLHI 4,200,000 4,200
N2es(FHsSan) 1,005,000 0 1,005,000
HEAHHKI = 1,005,000 0 1,005,000
It HEES 1,005,000 0 1,005,000
701 JIEtSI HEES 1,005,000 0 1,005,000
01 JIEteI HE &= 1,005,000 0 1,005,000
OsZXNFEEANSSESN dES 1,005,000
—AMHET] MRS 1,005,000, 000& 1,005,000




